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— =) CHAPTER 6: PYTHAGORAS AND TRIGONOMETRY

Mark on the triangle the sides you know.
Recognise it is a tangent problem because you have O and A. /0\\
Sotanx = e

7

2

EXAMPLE 249

Find the angle marked x in this triangle.

x=tan" 2 =597 (1 decimal place)

@

Find the length marked x in each of these triangles.

b
0°

&
=

0
=

48°
50 50

x 40°
52 X

76°

p 4
39°
d e f
20
37°
X

Find the angle marked x in each of these triangles.

b c
/j 70
14 0
X

50 50

100 2
52

20
X
d e f
20
S
13

-
O
b
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@D Find the angle or length marked x in each of these triangles.
a 5 b c
x >
10
= o 120
X
- 34 e
. 39°
16
25
£
56 <) o h
& 45
80
54 50
x
i
O i X
x 230
A & 23
V
@ In a maths textbook it says:

a Show clearly that this is true for an angle of 300

b Prove, by using the definitions of sin @ and cos 6, that the s :
iangle; alement is true for this right-

c
b
o
a

angled
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ree.
answers involving angles t0 the nearest deg

4 @D A ladder, 6 m long, rests against a wall. The foot 0; the ladder is 2.5 m from the base the
What angle does the ladder make with the ground?

i @ The ladder in question 1 has a usafe angle” with the 8'0“}':‘:] of ﬁ(?etween 60° and 70°, vy
safe limits for the distance of the foot of the ladder from the wall¢

In these questions, give

\‘/al

hat a,

Another ladder, of length 10 m, is placed so that it reaches 7 m up the wall. What angle o, i[
make with the ground?
f 76° with the ground. When the f,,

Yet another ladder is placed so that it makes an angle o
he wall does the ladder reach?

: tofy
ladder is 1.7 m from the foot of the wall, how high up t

@ Calculate the angle that the diagonal makes with the long side of a rectangle which measyre 10

by 6 cm.

This diagram shows a frame for a bookcase. —09m

a What angle does the diagonal strut make with the long side?

b Use Pythagoras’ theorem to calculate the length of the strut.

This diagram shows a roof truss.
a What angle will the roof make with 1.6m
the horizontal?
4.5m
M
___.4—"-/

b Use Pythagoras’ theorem to calculate
the length of the sloping strut.

Alicia paces out 100 m from the base of a church.

She then measures the angle to the top of the
spire as 23°. How high is the church spire?

100 m

A girl is flying a kite on a string 32 m long.

The string, which is being held at 1 m above the ground,
makes an angle of 39° with the horizontal,

How high is the kite above the ground?




